
368055-BA

368055-BA

368054-BA

368056-BA

368056-BA

642083642130

642056

642056

642083

642130 642083

642001 x6

642001 x6

642083

642083 x2
642056 x2

Note: Made For Transit Without Factory Overhead Shelf

647025

647025

# Part No. DESCRIPTION QTY.

9 647025 Push-In Rivets Fasteners - Black Nylock 1/4" x 1.6" 4

8 633645 Installation Guide - 21+ Ford Transit Overhead Shelf - 2021+ w/o Factory Overhead 1

7 642001 #8 x 1/2"  Phillips Washer Head Tek Screw 12

6 642056 1/4-20 Nyloc Flange Nut - Zinc 4

5 642083 1/4-20 x 3/4" Flanged Hex Head Bolt - Zinc 6

4 642130 1/4-20 x 5/8" Flanged Hex Head Thread-Cutting Bolt - Zinc 2

3 368056-BA 21+ Ford Transit  MR/HR - OverHead - Rear Mounting Brkts - Bare Aluminum 2

2 368055-BA 21+ Ford Transit  - Front Mounting Brkt - Bare Aluminum 2

1 368054-BA 21+ Ford Transit  MR/HR - OverHead Shelf - Bare Aluminum 1

2021+ Ford Transit  MR/HR - 
OverHead Shelf - Bare Aluminum

SCALE: 1:6

 Lbs.

A
13.59717

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

J&M TRUCK BODIES.  ANY 
REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF
J&M TRUCK BODIES IS PROHIBITED.

5 4 3 2 1

SIZE

Drawn By.

Date
3/17/2022

7541 Chapman Ave Unit B
Garden Grove, Ca 92841

Item No.Material

--
Weight

Description

360005-BA
Rev.

.100 - 5052 Aluminum


	360005-BA_BOM
	Drawing View18


